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1. ©Û¾Ûé …é ´ùÜÌ¤øïõÛé¨Û ÍÛÛ¬Ûé ÍÛ×¾Û©Û ¬ÛÛÈÛ ™öÛé ïéõ ¼Û›ÛÁõ©Û×ªÛ Ü¶ÛÌºõÇ ›ÛýÛ ™öé ? ›Ûé ÐüÛ, ©ÛÛé ©Ûé¶ÛÛ ïõÛÁõ¨ÛÛé¶Ûà 
˜Û˜ÛÛÙ ïõÁõÛé.    14 

 Do you agree with the view that market fails ? If yes, then discuss reasons for it.  

…¬ÛÈÛÛ/OR 

 ›ÛÐéüÁõ ÈÛÍ©Ûä¶ÛÛ ÅÛ“Û¨ÛÛé ÍÛ¾Û›ÛÈÛÛé. ÍÛÁõïõÛÁõ ³ùÛÁõÛ ›ÛÐéüÁõ ÈÛÍ©Ûä…Ûé¶Ûà …Û¸ÛæÜ©ÛÙ ïõÁõÈÛÛ¶Ûà ›÷ÄõÁõ ïéõ¾Û ¸Û¦éø 
™öé ©Ûé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.  

 Explain the characteristics of public goods and discuss why it is necessary for the 
government to provide public goods in the economy. 

  

2. ¾Û©ÛþùÛ¶Û¶Ûà ›ä÷þùà-›ä÷þùà ¸Û±ùÜ©Û…Ûé ÜÈÛÉÛé ¶ÛÛêµÛ ÅÛ”ÛÛé. 14 

 Write a note on various voting systems.  

   …¬ÛÈÛÛ/OR 

 (a) ÍÛÛéþùÛ¼ÛÛœ÷¶ÛÛé ”ýÛÛÅÛ ŠþùÛÐüÁõ¨Û¶Ûà ¾Ûþùþù¬Ûà ÍÛ¾Û›ÛÈÛÛé. 7 

  Explain the concept of log rolling with the help of an example.  

 (b) Ý¼Ûþäù ¾Û©ÛþùÛ¶Û¶ÛÛé ”ýÛÛÅÛ ŠþùÛÐüÁõ¨Û¶Ûà ¾Ûþùþù¬Ûà ÍÛ¾Û›ÛÈÛÛé.  7 
  Explain the concept of point voting with the help of an example. 

 

3. ›ÛÐéüÁõ ”Û˜ÛÙ¶ÛÛé ÉÛä±ù ÜÍÛ±ùÛ×©Û ˜Û˜ÛÛë. 14 

 Discuss the pure theory of public expenditure. 

        …¬ÛÈÛÛ/OR 

 ¾ÛÁõœ÷ýÛÛ©Û ÜÈÛÜ¶Û¾ÛýÛ¶ÛÛé ÜÍÛ±ùÛ×©Û ˜Û˜ÛÛë.  
 Discuss the voluntary exchange model. 

 

4. ÈÛéÁõÛ¾ÛÛ× ÍÛ¾Û©ÛÛ¶Ûà ´ùÜÌ¤ø…é ”Û˜ÛÙ ÈÛéÁõÛé …¶Ûé …ÛÈÛïõ ÈÛéÁõÛ¶Ûà ©ÛÁõºéõ¨Û ©Û¬ÛÛ ÜÈÛÄõ±ù¶Ûà þùÅÛàÅÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 14 

 From the equity point of view, discuss argument in favour and against expenditure tax 
and income tax. 

…¬ÛÈÛÛ/OR 
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 ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : 
 Write a note : 
 (a) ÅÛéºõÁõ ÈÛ’õ 
  Laffer Curve 
 (b) ïõÁõ ÍÛ×¸ÛÛ©Û¶ÛÛ ”ýÛÛÅÛÛé 
  Concepts of tax incidence  
 
5. ¶Ûà˜Ûé …Û¸ÛéÅÛ ÈÛíéïõÜÅ¸Ûïõ ¸ÛóÊ¶ÛÛé¶ÛÛé ºõî©Û ›÷ÈÛÛ¼Û (a, b, c, d) ©Û¾ÛÛÁõà Š«ÛÁõÈÛÐüà¾ÛÛ× ÅÛ”ÛÛé : 14 
 Choose the correct answer from each of the following questions and write only its 

number (a, b, c, d) in your answer sheet. 
 (1) ÍÛÛ¾ÛÛœ÷ïõ ÈÛÍ©Ûä ¸ÛæÁõà ¸ÛÛ¦øÈÛÛ¾ÛÛ× ¸ÛóÊ¶ÛÛé Š½ÛÛ ¬ÛÛýÛ ™öé ïõÛÁõ¨Û ïéõ  
  (a) Ü¼Û¶ÛÐüÁõàºõÛˆ¶ÛÛé •Ûä¨Û µÛÁõÛÈÛé ™öé.  
  (b) Š¸Û½ÛÛé•Û …×•Ûé¶Ûà ¸ÛÍÛ×þù•Ûà ÈýÛî©Û ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛ©Ûà ¶Û¬Ûà.  
  (c) ¼Û›ÛÁõ©Û×ªÛ …ÛÈÛà ÈÛÍ©Ûä ¸ÛæÁõà ¸ÛÛ¦øÈÛÛ¾ÛÛ× ÍÛ“Û¾Û ¶Û¬Ûà.  
  (d) Š¸ÛÁõÛéïõ©Û ¼ÛµÛÛ 
  Provision of social goods poses problem because 
  (a) such goods tend to be non-rival in consumption 
  (b) consumption preferences with respect to such goods are not revealed 
  (c) market mechanism is not well suited for the provision of such goods 
  (d) All of the above 
 (2) ¸ÛÁõÛé“Û ïõÁõÈÛéÁõÛ …Û¸ÛÜ«Û›÷¶Ûïõ ™öé, ïõÛÁõ¨Û ïéõ ©Ûé  
  (a) Š–ÛÁõÛÈÛÈÛÛ …–ÛÁõÛ ™öé.  
  (b) ¸ÛóÜ©Û•ÛÛ¾Ûà ™öé. 
  (c) …ÛÈÛïõ ÈÛµÛÛÁõÈÛÛ¾ÛÛ× ¸ÛýÛÛÙ¸©Û ¶Û¬Ûà.  

  (d) µÛÜ¶Ûïõ ÈÛ•ÛÙ ¾ÛÛ¤éø …–ÛÁõÛ ™öé.  
  Indirect tax are objectionable because they 
  (a) are hard to collect 
  (b) are aggressive 
  (c) do not raise enough revenue 
  (d) are particularly hard on the rich  
 (3) ÍÛÛ¾ÛÛ¶ýÛ Áõà©Ûé ïõÁõ¶ÛÛ þùÁõ¾ÛÛ× ÈÛµÛÛÁõÛé ¬ÛÈÛÛ¬Ûà ïõÁõ …ÛÈÛïõ¾ÛÛ× ÈÛµÛÛÁõÛé ¬ÛÉÛé. ©ÛéÈÛä× ¾ÛÛ¶ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. 

¸ÛÁ×õ©Ûä …ÛÈÛïõ ÈÛéÁõÛ¶ÛÛ þùÁõ¾ÛÛ× –Û¤øÛ¦øÛé ïõÁõÈÛÛ¬Ûà ©Ûé¾ÛÛ×¬Ûà ¸ÛóÛ¸©Û ¬Û©Ûà ïõÁõ …ÛÈÛïõ¾ÛÛ× –Û¨ÛÛé ÈÛµÛÛÁõÛé ¬ÛÉÛé. 
©ÛéÈÛä× ¾Û×©ÛÈýÛ ™öé. …Û ¾Û×©ÛÈýÛ ïõÛé̈ Ûé …Û¸ýÛä× ™öé ? 

  (a) …Û¬ÛÙÁõ ÅÛéºõÁõ  (b) ÁõÛé¼Û¤Ùø ÅÛäïõÛÍÛ  
  (c) Ðü¼ÛÙ¤ø ÍÛÛˆ¾Û¶Û (d) ›÷é.¼Ûà. ÍÛé 
  It is generally believed that a rise in the tax rate would normally lead to a rise in the 

revenue. But there is also a view that reduced rates on income tax would lead to a 
significant rise in income tax revenue. This later view has been attributed to 

  (a) Arthur Laffer (b) Robert Lucas 
  (c) Herbert Simon (d) J.B. Say 
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 (4) …¬ÛÙ©Û×ªÛ¾ÛÛ× ÍÛÁõïõÛÁõ¶ÛÛé ÐüÍ©Û“Ûé¸Û ›÷ÄõÁõà ™öé, ïõÛÁõ¨Û ïéõ  
  (a) …ÛÜ¬ÛÙïõ ÈÛèÜ±ù ÅÛÛÈÛÈÛÛ ¾ÛÛ¤éø  (b) ”ÛÛ² ˜Ûà›Ûé¶Ûà …Û¸ÛæÜ©ÛÙ 
  (c) ›ÛÐéüÁõ ÈÛÍ©Ûä…Ûé¶Ûà …Û¸ÛæÜ©ÛÙ (d) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÐüá 
  Government intervention in the economy is necessary for 
  (a) bringing economic growth (b) provision of food items 
  (c) provision of public goods (d) None of these  
 (5) …Û ïõÁõ¶Ûä× ÜÈÛÈÛ©ÛÙ¶Û ÉÛîýÛ ¶Û¬Ûà. 
  (a) ÈÛé˜ÛÛ¨Û ÈÛéÁõÛé (b) …ÛÈÛïõ ÈÛéÁõÛé 
  (c) ÈýÛÈÛÍÛÛýÛ ÈÛéÁõÛé (d) …ÛýÛ©Û ÈÛéÁõÛé 
  The shifting of tax is not possible in  
  (a) sales tax (b) Income-tax 
  (c) Professional tax (d) Import tax 
 (6) …é¦ø¾Û ÜÍ¾Û¬Û …¶ÛäÍÛÛÁõ, …ÛþùÉÛÙ ïõÁõ …Û ÅÛ“Û¨Û µÛÁõÛÈÛ©ÛÛé ÐüÛéÈÛÛé ›Ûéˆ…é. 
  (a) Ü¶ÛÜÊ˜Û©Û©ÛÛ (b) ºõÁõœ÷ýÛÛ©Û¸Û¨Ûä× 
  (c) ¾ÛÁõœ÷ýÛÛ©Û¸Û¨Ûä× (d) ›ÛÐéüÁõÛ©Û 
  According to Adam Smith, an ideal tax should possess this characteristic 
  (a) certainty (b) compulsion 
  (c) optionality (d) publicity  
 (7) …Û ¾Û©ÛþùÛ¶Û ¸Û±ùÜ©Û ¶Û¬Ûà 
  (a) ¼ÛÐäü¾Û©Ûà ¾Û©ÛþùÛ¶Û (b) ÅÛÛéïõ¾Û©Û 
  (c) ÈýÛÜî©Û•Û©Û …Ü½Û¸ÛóÛýÛ (d) ÍÛÈÛÙÍÛ×¾ÛÜ©Û 
  This is not a method of voting 
  (a) majority voting (b) Referendum 
  (c) Individual opinion (d) Consensus 
 (8) ›ÛÐéüÁõ ÈÛÍ©Ûä …Û ÅÛ“Û¨Û µÛÁõÛÈÛé ™öé.  
  (a) ÐüÁõàºõÛˆ (b) …™ö©Û 
  (c) ÈÛ×Ü˜Û©Û©ÛÛ (d) Ü¼Û¶Û-ÜÈÛ½ÛÛšýÛ©ÛÛ 
  Public goods possess this attribute 
  (a) Rivalry (b) Scarcity 
  (c) Exclusivity (d) Non-divisibility 
 (9) ÐüïõÛÁõÛ©¾Ûïõ ¼ÛÛÔ …ÍÛÁõ …é¤øÅÛé  
  (a) ïäõÅÛ ÍÛÛ¾ÛÛœ÷ïõ ”Û˜ÛÙ ïäõÅÛ ”ÛÛ¶Û•Ûà ”Û˜ÛÙ ïõÁõ©ÛÛ× ÈÛµÛä ÐüÛéýÛ. 
  (b) ïäõÅÛ ÍÛÛ¾ÛÛœ÷ïõ ”Û˜ÛÙ ïäõÅÛ ”ÛÛ¶Û•Ûà ”Û˜ÛÙ ïõÁõ©ÛÛ× …Ûé™ä×ö ÐüÛéýÛ.  
  (c) ïäõÅÛ ÍÛÛ¾ÛÛœ÷ïõ …¶Ûé ïäõÅÛ ”ÛÛ¶Û•Ûà ”Û˜ÛÙ ÍÛÁõ”ÛÛ ÐüÛéýÛ.  
  (d) Š¸ÛÁõ¶ÛÛ …éïõ¸Û¨Û ¶ÛÐüá 
  Positive externalities means 
  (a) Total social cost is greater than total private cost. 
  (b) Total social cost is less than total private cost. 
  (c) Total social cost equals total private cost. 
  (d) None of above 



DQ-126 4  

 (10) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ ÈÛÍ©Ûä ¾ÛéÜÁõ¤ø •Ûä¨Û µÛÁõÛÈÛé ™öé ? 

  (a) ÜºõÅ¾Û   (b) ÜÉÛ“Û¨Û 

  (c) ¾ÛïõÛ¶Û  (d) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÐüá 

  Which of the following has the characteristic of merit good ? 

  (a) Film  (b) Education 

  (c) House (d) None of the above 

 (11) ›ÛÐéüÁõ ”Û˜ÛÙ¶ÛÛé ÉÛä±ù ÜÍÛ±ùÛ×©Û ïõÛé¨Ûé …Û¸ýÛÛé ™öé ? 

  (a) ¾ÛÍÛ•ÛóéÈÛ (b) ÅÛ¶ÛÙÁõ 

  (c) ÍÛé¾ýÛäÅÛÍÛ¶Û (d) …éÁõÛé 

  The pure theory of public expenditure is given by 

  (a) Musgrave (b) Larner 

  (c) Samuelson (d) Arrow  

 (12) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛÛé ¸Ûó©ýÛ“Û ÈÛéÁõÛé ™öé ? 

  (a) ”Û˜ÛÙ ÈÛéÁõÛé (b) ÈÛé˜ÛÛ¨Û ÈÛéÁõÛé 

  (c) ›÷ïõÛ©Û ÈÛéÁõÛé (d) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÐüá 

  Which of the following is a direct tax ? 

  (a) Expenditure tax (b) Sales tax 

  (c) Custom tax (d) None of the above  

 (13) ÅÛéºõÁõ ÈÛ’õ ÉÛÛ¶ÛÛé ÍÛ×¼Û×µÛ þùÉÛÛÙÈÛé ™öé ? 

  (a) ïõÁõ …ÛÈÛïõ …¶Ûé ïõÁõ þùÁõ  (b) ”ÛÛ¶Û•Ûà …ÛÈÛïõ …¶Ûé ïõÁõ þùÁõ  

  (c) ›ÛÐéüÁõ ”Û˜ÛÙ …¶Ûé ïõÁõ þùÁõ  (d) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÐüá 

  Laffer Curve shows relationship between 

  (a) tax income & tax rate (b) private income & tax rate 

  (c) public expenditure & tax rate (d) None of the above 

 (14) ¾ÛµýÛÈÛ©Ûâ ¾Û©ÛþùÛ¶Û¶ÛÛé ÜÍÛ±ùÛ×©Û ïõÛé¨Ûé …Û¸ýÛÛé ™öé ? 

  (a) ¼ÅÛéïõ   (b) …éÁõÛé 

  (c) ¾ÛÍÛ•ÛóéÈÛ (d) ÍÛé¾ýÛäÅÛÍÛ¶Û 

  Who has given the theory of median voting ? 

  (a) Black (b) Arrow 

  (c) Musgrave (d) Samuelson 

________ 


